

Finance Division SAI Head Office J N Stadium Complex (East Gate) Lodi Road New Delhi 110 003

F. No. 6(28)/SAI/B&F/126th FC/2025-26

Date: 31th October, 2025

Sub: 126th Meeting of Finance Committee of SAI

Please find enclosed the Minutes of 126th Meeting of Finance Committee of Sports Authority of India held on 29th October, 2025 under the Chairmanship of Sh. Hari Ranjan Rao, Secretary (Sports) in the Mini Conference Hall, DG, SAI Office, SAI Head Office, New Delhi.

This has the approval of the competent authority.

(Shailesh Rajan)
Executive Director (Finance) &
Member Secretary, Finance Committee

To,

- 1 Shri Chinmay P. Gotmare, Joint Secretary (Expenditure), Ministry of Finance, North Block, New Delhi
- 2 Shri Mansoor Hasan Khan, JS & FA, MYAS
- 3 Shri Kunal, Joint Secretary (Sports), MYAS, Shastri Bhawan, New Delhi
- 4 Shri Vishnu Kant Tiwari, Secretary, SAI
- 5 Shri Vineet Kumar, Senior Executive Director (Academics), NSNIS, Patiala

Copy to:

- 1. Shri Vineel Krishna Ravella, JS (KI), MYAS
- 2. PPS to Secretary (Sports), Shastri Bhawan, New Delhi
- 3. OSD to DG, SAI

Sports Authority of India (Finance Division)

Minutes of the 126^h Meeting of the Finance Committee of Sports Authority of India held on 29th October, 2025

The 126th Meeting of the Finance Committee of SAI was held on 29th October, 2025 at 4.30 P.M. under the Chairmanship of Sh. Hari Ranjan Rao, Secretary (Sports), in the Mini Conference Hall, DG, SAI Office, SAI Head Office, New Delhi.

2. The following officers attended the meeting:

S. No.	Name & Designation		
(i)	Shri Chinmay P. Gotmare, Joint Secretary	Member	
	(Expenditure) Ministry of Finance		
(ii)	Shri Mansoor Hasan Khan, JS & FA, MYAS	Member	
(iii)	Sh. R. Vineel Krishna, JS (KI), MYAS	Link Officer to JS (Sports), MYAS	
(iv)	Shri Vishnu Kant Tiwari, Secretary, SAI	Member	
(v)	Shri Shailesh Rajan, ED (F), SAI	Member-Secretary	
(vi)	Shri Vineet Kumar, Senior ED (Academics),	Member (Attended on Zoom)	
	NSNIS Patiala	,	

3. The following were granted leave of absence:

S. No.	Name & Designation	
(i)	Sh. Kunal, JS (Sports), MYAS	

4. ED (Finance) welcomed all the members and explained the agenda items. The decisions taken on the agenda items after due deliberations are as under:

Agenda Item No.1

Confirmation of the Minutes of the 125th Meeting of the Finance Committee of Sports Authority of India (SAI) held on 20th June, 2025

The Minutes of the 125th Meeting of the Finance Committee were confirmed.

Agenda Item No.2

Action Taken Report on the decisions taken in the 125th Meeting of the Finance Committee of SAI held on 20th June, 2025

Noted.

M/

Agenda Item No. 3

Revision of Financial Norms for National Centre of Excellence (NCOE) and SAI Training

Centres (STCs)

The Finance Committee deliberated in detail over the agenda. The Committee decided

that for NCOE, Boarding charges @ Rs. 850/- per day per Athlete be applicable for 90% of

athletes i.e. 3,523 Athletes and @ 935/- per day per Athlete be applicable for 10% of athletes

i.e. 391 Athletes, which covers hilly areas, North-East Region and Islands, etc.

The Committee also decided that for STC, Boarding charges @ Rs. 500/- per day per

Athlete be applicable for 90% of athletes i.e. 3,461 Athletes and @ 550/- per day per Athlete

be applicable for 10% of athletes i.e. 385 Athletes, which covers hilly areas, North-East Region

and Islands, etc.

Besides that, the Finance Committee concurred the proposal for revision in norms for

other heads of NCOE and STC, without any change.

The Financial repercussion after the changes suggested by Finance Committee is Rs.

75.40 crores for NCOE and Rs. 62.00 Crores for STC.

The breakup calculation is attached at **Annexure-A** (For NCOE) and at **Annexure-B**

(For STC).

Further the committee also opined to review the fixed norms after 03 (three) years.

The meeting ended with vote of thanks to the Chair.

Shailesh Rajan)

ED (Finance) &

Member-Secretary, Finance Committee

Revision of Norms NCOE: Financial Implication

S.No.	Particulars	Existing Norms	Proposed Norms	Recommended by Finance Committee
1	Boarding	No. of Residential Athletes X No. of training Days X Boarding Charges		(A) For Non-Hilly Areas @ 850/- per day per athlete (No. of Athlete 3914*90% = 3,523) 3523 X 320 X 850 =
				Rs. 95,82,56,000/-
				(B) For Hilly and Remote Areas @ 935/- per day per athlete (No. of Athlete 3914*10% = 391) 391 X 320 X 935 = Rs. 11,69,87,200/-
		3914 X 320 X 480 = Rs. 60,11,90,400/-	3914 X 320 X 935 = Rs. 1,17,10,68,800/-	Total (A+B) = Rs. 1,07, 52,43,200/-
2	Sports Kit	No. of Athletes X Present Norms 4309 X 20,000 = Rs. 8,61,80,000/-	No. of Athletes X Proposed Norms 4309 X 20,000 = Rs. 8,61,80,000/-	No. of Athletes X Proposed Norms 4309 X 20,000 = Rs. 8,61,80,000/-
3	Competition	No. of Athletes X	No. of Athletes X	No. of Athletes X Proposed Norms
	Exposure and	Present Norms	Proposed Norms	4309 X 60,000 =
	Visits	4309 X 50,000 = Rs. 21,54,50,000/-	4309 X 60,000 = Rs. 25,85,40,000/-	Rs. 25,85,40,000/-
4	Education	No. of Athletes X	No. of Athletes X	No. of Athletes X Proposed Norms
	Support	Present Norms 4309 X 10,000 = Rs. 4,30,90,000 /-	Proposed Norms 4309 X 30,000 = Rs. 12,92,70,000/-	4309 X 30,000 = Rs. 12,92,70,000/-
5	Misc and Contingencies (including insurance)	No. of Athletes X Present Norms 4309 X 15000 = Rs. 6,46,35,000/-	No. of Athletes X Proposed Norms 4309 X 15000 = Rs. 6,46,35,000/-	No. of Athletes X Proposed Norms 4309 X 15000 = Rs. 6,46,35,000/-
6	Consumable Equipment (Archery, Fencing & Shooting)	Rs. 8,12,02,060/- (2,75,00,000+2,21,00, 000+3,16,02,060 respectively)	Rs. 23,18,38,000/- (7,63,40,000+7,27,09,0 00+8,27,89,000 respectively)	Rs. 23,18,38,000/- (7,63,40,000+7,27,09,000+ 8,27,89,000) (for Archery, Fencing and Shooting respectively)
	Total (Rs.)	1,09,17,47,460	1,94,15,31,800	1,84,57,06,200
	Re 84		7,84,340/-	Rs. 75,39,58,740
	Difference	(Say Rs. 84.98 crores)		(Say Rs. 75.40 crores)



Revision of Norms For STC: Financial Implication

S.No.	Particulars	Existing Norms	Proposed Norms	Recommended by Finance Committee
1	Boarding	No. of Residential Athletes X No. of training Days X Boarding Charges		(A) For Non-Hilly Areas @ 500/- per day per athlete (No.of Athlete 3846*90% = 3,461) 3461
		3846 X 320 X 330 = Rs. 40,61,37,600/-	3846 X 320 X 550 = Rs. 67,68,96,000/-	Total (A+B) = Rs. 62,15,20,000/-
2	Sports Kit	No. of Residential Athletes X Present Norms 3846 X 24000= Rs. 9,23,04,000	No. of Athletes X Proposed Norms 4824 X 15000 = Rs. 7,23,60,000/-	No. of Athletes X Proposed Norms 4824 X 15000 = Rs. 7,23,60,000/-
3	Competition Exposure and Visits	No. of Non-Residential	No. of Athletes X Proposed Norms 4824 X 40000 = Rs. 19,29,60,000/-	No. of Athletes X Proposed Norms 4824 X 40000 = Rs. 19,29,60,000/-
4	Education Support	Athletes X Present Norms 978 X 16500 = Rs. 1,61,37,000	No. of Athletes X Proposed Norms 4824 X 10000 = Rs. 4,82,40,000/-	No. of Athletes X Proposed Norms 4824 X 10000 = Rs. 4,82,40,000/-
5	Misc and Contingencies (including insurance)	Total: - Rs. 10,84,41,000/-	No. of Athletes X Proposed Norms 4824 X 2500 = Rs. 1,20,60,000/-	No. of Athletes X Proposed Norms 4824 X 2500 = Rs. 1,20,60,000/-
6	Consumable Equipment	Rs. 4,89,00,000/-	Rs. 23,63,37,500/-	Rs. 23,63,37,500/-
	Total	Rs. 56,34,78,600/-	Rs. 1,23,88,53,500/-	Rs. 1,18,34,77,500.00
	Difference	Rs. 67,53, (Say Rs. 67.		Rs. 61,99,98,900.00 (Say Rs. 62.00 crores)

